)
(a
(b) (c ¢ a=bh)
© (d) Q)
( ) (e e cxd=xf)
15,000 20
100,000 50,000

15,000 =20 100,000 50,000 450,000

15,000 10
100,000 50,000
15,000 =10 100,000 50,000 350,000 L 4 4
70 30 16,700
2,580 43 )

70><16,700 >=<2,580
3,016,020,000 100 43 30

15

16,700 ><15(1 1+21.5+8>x43>=1.25)
328,781




( )
( )
( )
( )
( )
1
( 202,300 ) 70 ( 102,914 )
40
(202,300 102,914 )= (1 1+21.5+8x40x1.25)
236,472 -2 22
2
( 202,300 ) 70 ( 102,914 )
1,800
40
1,800 > 30
54,000
202,300 54,000
148,300 101 ( 150,000 )

150,000 > (1 1-+21.5=8x>=40>x1.25)
193,605




70

10

( )

( 1 100,000 2 50,000

1,920,000

15,000,000

(b-a)

3 10,000
250,000



100



